Bl ASC0IE AHS EA

www.kgauto.co.kr

Automatic Control Parts

Small Limit Series

29 2|0|E AKX

O FCIXILE



LimIt switch

® EZ (Features)

1. 4852 gUE2t g1 A0 ot

2, COIAAE BH0| SAAE Ay X H|H oFHy o
(Die cast body and FIEEI ¢ cover construction made it ele

3, AWR00|E ERV} CItEIDE R50| wmat Mef 80|
(Various Kinds of actuators for easy tion)

4, TEI|A,24717 245 Aol Bulo] B Ik

(& machine tool, transportation machine and a

ctronic safety assurance)

ndustrial equipment are adaptable)

o s (Performance)

® 5 List e T A8 2I01E AR (Small Limit switch]
HHEY (Rating) 250V a.c 5A

A E (Insulating resistance) 100m 0| £HMin 100uz)

LYH2f (Withstanding voltags) 2500V ac 50~B0HzO|A 187H2,500V a,c 50~60Hz 1min)
HEXE (Contact resistance) 25ma 0|8}

&= (Vibration protection) 10~55Hz, S&I1& 3mm(10-55Hz, Vibration width 3mm)

Li&E2 (Shoke protection) 2F 50g(5008¢)

MEZF9| 25 [Ambient temperature) -10-450%

MEF9| HE (Relative humidity) 45-85% R

HEEI= {Openjolose time) 2o 30|/ Max 30/1min)

L H21% (Electrical) 1002k o|AH1mil Min)

+ & lLiktimel 714 (Mechanical) 10248] 04D, 1mil Mir)

o @M (Name composition)
4 ™

KG - SL 001
| KG : KG AUTO

8L : A8 2o|E AHE] (Small limit switch)

SHZ0IE] (Actuator)

001 : 7PHES SHtHE (Variable roller lever)

002 : 7HH2E 2|t (Varable rod lever)

003 : E&i 2Iti¥ (Roller lever)

004 : E2f Z2tXHE (Roller plunger)

005 : 324 ¢ L2AE (Cross roller plunger)
006 : T4 T2t7H (Push plunger)

007 : A3 OIS (Spring wire)

.

o LY E ALX| ¥ HE S22 (Inner switch & circuit diagrams)

» KG-SLM10

3 — |4

NO 'O—|@NO

NC NC
T _ 12




e 2|¥ 3 = (External form / Drawing)

o 7HHER]| S (Variable Roller lever)

»KG—-SL001

=
(Drawing)

sxsy

(Operating characteristics)

OFZ|c{ : 250gf
RFZ|4A @ 100gf
g PTZ|H : 20°+5
MDZ|] : 10°
7 OTE|A : 75°
z TTHA : 90°
- 3-M3X0.5 _‘?
HU2F LA -
219 | \amsx8 WRE 06-09 75
31.0 FE 250
o JItHZC S (Variable rod lever)
»KG—SL002
2 & L= SHEY
(External) (Drawing) (Operating characteristics)
5.75 416
] 2.6
{
| OFZtH : 300gf
o3 RFZ|4A : 100gf
I T IRE PTE|C) : 20°+5
§| e “ [ MDZ|C : 10°
A J OT#4 : 75°
M ¥ ‘ 3 TTAA @ 90°
@ ®
215 | \ewsws 75
1.0 FEED]
o =2 Z{|tH (Roller lever)
»KG-SL003
o 8 = o sEy
(External) (Drawing) (Operating characteristics)
414
| 36.5
| OFZ|tH : 300¢f
14 RFZ4 : 1009
] PTE|C) : 20°+5
MDZ|CH : 10°
3 OTHA : 75°
L TTEA : 90°
LA EREES | -
21.0 | |\a-Msx08 WIRE 06~09 1 75
310 FEET 250




e 23

e =2{ Z2tX3 (Roller plunger)

2! £ (External form / Drawing)

» KG-SL004
9 3 =] SEHEY
(External) (Drawing) (Operating characteristics)
x
— 3 A OFZ|cf : 600gf
e Ll RFZ|4 : 300gf
PTZIH : 1.5mm=0.5
" MDZ|CH : 1mm
':“E‘mﬁ: e OTE|A : 4mm
| u‘..'fZ TTEA @ 55mm
3-M3X0.5
&o EERETOT
28 Npsxos WRE06-09 1
e 3=A E2{ Z2XIA (Cross roller plunger)
» KG—-SL005
o 3 £ o sH=Yy
(External) (Drawing) (Operating characteristics)
205
R *fzz-
OFZ|cH : 600gf
RFE|A : 300gf
= PTZILY : 1.5mm=+0.5
5 MDZICH : 1mm
3 OTX|A : 4mm
TTEA : 5.5mm
= 3-M3X0.5 %—_:
FEIF UA =
21.0 4-M5X0.8 WIRE §6-09 75
31.0 3] Lk 25.0
® 2| L2HXHY (Push plunger)
» KG—-SL006
o 3 (=] XEN
(External) (Drawing) (Operating characteristics)
205 _
105
]
% OFZ|c : 600gf
| RFZE|4 : 300gf
PTZILY : 1.5mm=+0.5
3 MDZICH : 1mm
OTZ|A @ 4mm
1 TTEA : 5.5mm
3-M3X0.5 %—_:
EEFREROT —
\4-M5x0.8 WIRE 06-09 - 75
31 LA 250




o AT Ql0|0f& (Spring wire)

»KG—SL007
2 8 = ™ SHEH
(External) (Drawing) {Operating characteristics)
OF Z|cf : 1509
PTZIC : 15mm=+5
OTZ|A : 20mm
TTEA @ 20°
i
2]
WIRE @6~9 75
5.0
e BEHHH( Attachment method)
HASE (DFE} Ol A2) soima
Front attachment (If fixing tabs) Rear attachment
PANEL CUT SIZE PANEL CUT SIZE .| PANEL CUT SIZE
4-M4X0.7 4-(4.5 HOLE 4-95.5 HOLE
t + | >

)

2 & 2ol 15mmol4

Tab depth 15mm or mare

T 7 5mmo|st XS
Panel brnm thickness less applicable

myl =7 6mmo|sh MR (ZA SE XHEA|)

Panel 6mm thickness less applicable
(Packing bolt when applying)

o 2=t CtX} (Solderless terminal)

7.90|5}

@7.90|5t

3.7014

14.00]3

S
10\
0%

7.90|5}

X
1 0\’2’
o

_14.00/5

14,005t

&
S o
X=]
vl
./
|

NC ALZA|

NO AREA|




® ==0|A}&H Precautions)

1. 2 AZ2 Y0 olER XUE #72 ¥ {7 50| H&REA| €5 Folsi FHAL.

(The product isn't waterproof type, be aware of excessive water and oll pass through it)

2245 R7ISH, 242 YrtlN UL 717t 21 S ROIA AIS 5H7] DHIAIR.

(Do not use with all sorts of organic solvent, strong acid, strong alkali}

¢ 7|S A (Explain sign)

V=3 7|5 My = 7|E MY
(Sign) {Explain sign) (Sign) (Explain sign)
| RsSIRIFPOIN SRSIROPZ 25 | mssinER) AeolM aEENO0] ON
OF | SHAEREE | o1e man y O EE g nolazoolerel ¢4
S35 s RTTRIONN EI52 23] | eistonx etzotolelol g0l FHslixix]
r=1| ] o0
RE | S8R E | copix gxoler) mest &) Pl AR lore wo) aysofolefol 943
sEtElel | ALYIXIFPIIN SEIXIOP)DIXIS] o |sololErt HE S2ate Tl o
T 239l |olS el EE 0l 2 TP | SHEE A ojeqol o)
o ore | EESITIOPOIM SIS ARIRPIIIE | s=emoros amENO0l OFF
MD | BRISHY o e S g ols 2ie RP | SBE AR\ g o) ovzofoleiel %)
ol oaey | SRR S5 B AR(TTP o SSIRIEPII S5 e SITTP)
O | SHFASHE | Jxi0) ols 7ol E2 0l% 2% T | BHEESErio) ol 7l w0l 21

A5 KGAUTO €O, LTD.

2A- 3E A7 2HA 2T MER420HZ 9 Tel 032-684-5400 Fax 032-684-5477
Main Office 9, Sinheung—ro 420beon—gil, Ojeong—gu, Bucheon—si, Gyeonggi—do, Korea
Tel 82-32-684-5400 Fax 82-32-684-5477
BArdA BAEOA| AT HZEE 37 BAMAEE QEATL 125 2185 Tel 051-319-0355 Fax 051-319-0370

Busan Branch
Tel 82-51-319-0355 Fax 82-51-319-0370

12—218, Busan Industrial Supplies Market, 37, Gwaegam—ro, Sasang—gu, Busan, Korea

2 FIR2000 7| MY, 2Rl 52 SE EiE
L1510 AFH ofl 2 g10| HH E 5 QlgUct (20154 38)




